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4.30 0.60 0.60 0.60

NO 0 ~ NO 1 20.00 4.40 87.00 0.60 | 12.00 0.60 12.00 0.60 12.00
4.95 0.60 0.60 0.60

NO 1 ~ NO 1+10.6 10.60 4.25 48.76 0.60 | 6.36 0.60 6.36 0.60 6.36
4.25 0.60 0.60 0.60

NO 1+10.6 ~ NO 2 9.40 4.50 41.13 0.60 | 5.64 0.60 5.64 0.60 5.64
4.50 0.60 0.60 0.60

NO 2 ~ NO 3 20.00 4.35 88.50 0.60 | 12.00 0.60 12.00 0.60 12.00
4.35 0.60 0.60 0.60

NO 3 ~ NO 4 20.00 3.55 79.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.55 0.60 0.60 0.60

NO 4 ~ NO 5 20.00 3.60 71.50 0.60 | 12.00 0.60 12.00 0.60 12.00
3.60 0.60 0.60 0.60

NO 5 ~ NO 6 20.00 3.55 71.50 0.60 | 12.00 0.60 12.00 0.60 12.00
3.55 0.60 0.60 0.60

NO 6 ~ NO 7 20.00 3.55 71.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.55 0.60 0.60 0.60

NO 7 ~ NO 8 20.00 3.55 71.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.55 0.60 0.60 0.60

NO 8 ~ NO 9 20.00 3.55 71.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.55 0.60 0.60 0.60

NO 9 ~ NO 10 20.00 3.60 71.50 0.60 | 12.00 0.60 12.00 0.60 12.00
3.60 0.60 0.60 0.60

NO 10 ~ NO 11 20.00 3.65 72.50 0.60 | 12.00 0.60 12.00 0.60 12.00
3.65 0.60 0.60 0.60

NO 11 ~ NO 12 20.00 3.65 73.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.65 0.60 0.60 0.60

NO 12 ~ NO 13 20.00 3.60 72.50 0.60 | 12.00 0.60 12.00 0.60 12.00
3.60 0.60 0.60 0.60

NO 13 ~ NO 14 20.00 3.65 72.50 0.60 | 12.00 0.60 12.00 0.60 12.00
3.65 0.60 0.60 0.60

NO 14 ~ NO 15 20.00 3.65 73.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.65 0.60 0.60 0.60

NO 15 ~ NO 16 20.00 3.65 73.00 0.60 | 12.00 0.60 12.00 0.60 12.00

/NEE 320.0 1,208.4 192.0 192.0 192.0
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3.65 0.60 0.60 0.60
NO 16 ~ NO 17 20.00 3.65 73.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.65 0.60 0.60 0.60
NO 17 ~ NO 18 20.00 3.65 73.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.65 0.60 0.60 0.60
NO 18 ~ NO 19 20.00 3.55 72.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.55 0.60 0.60 0.60
NO 19 ~ NO 20 20.00 3.55 71.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.55 0.60 0.60 0.60
NO 20 ~ NO 21 20.00 3.70 72.50 0.60 | 12.00 0.60 12.00 0.60 12.00
3.70 0.60 0.60 0.60
NO 21 ~ NO 22 20.00 3.60 73.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.60 0.60 0.60 0.60
NO 22 ~ NO 23 20.00 3.50 71.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.50 0.60 0.60 0.60
NO 23 ~ NO 24 20.00 3.50 70.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.50 0.60 0.60 0.60
NO 24 ~ NO 25 20.00 3.50 70.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.50 0.60 0.60 0.60
NO 25 ~ NO 26 20.00 3.50 70.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.50 0.60 0.60 0.60
NO 26 ~ NO 27 20.00 3.55 70.50 0.60 | 12.00 0.60 12.00 0.60 12.00
3.55 0.60 0.60 0.60
NO 27 ~ NO 28 20.00 3.50 70.50 0.60 | 12.00 0.60 12.00 0.60 12.00
3.50 0.60 0.60 0.60
NO 28 ~ NO 29 20.00 3.40 69.00 0.60 | 12.00 0.60 12.00 0.60 12.00
3.40 0.60 0.60 0.60
NO 29 ~ NO 30 20.00 3.55 69.50 0.60 | 12.00 0.60 12.00 0.60 12.00
3.55 0.60 0.60 0.60
NO 30 ~ NO 30+11.7 11.70 3.40 40.66 0.60 | 7.02 0.60 7.02 0.60 7.02
3.40
NO 30+11.7 ~ NO 31 8.30 3.40 28.22
3.40
NO 31 ~ NO 32 20.00 3.40 68.00
/NG 320.0 1,131.9 175.0 175.0 175.0
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3.40
NO 32 ~ NO 33 20.00 3.25 66.50
3.25
NO 33 ~ NO 34 20.00 3.45 67.00
3.45
NO 34 ~ NO 35 20.00 3.50 69.50
3.50
NO 35 ~ NO 36 20.00 3.50 70.00
3.50
NO 36 ~ NO 37 20.00 3.55 70.50
3.55
NO 37 ~ NO 37+3.9 3.90 3.55 13.85
/NG 103.9 357.4
Lat 743.9 2,697.7 367.0 367.0 367.0




2TIX  FF#R

” 5 o SHLE U (As)t = 6cm| Rl E T et | 208 T (t=6cm)
WAk | A B | Wrmmdk| k0 & Wl 0 &
2TX

3.00 3.00 3.00

NO 0 ~ NO 20.00 3.00 | 60.00 3.00 | 60.00 3.00 60.00
3.00 3.00 3.00

NO 1 ~ NO 20.00 3.00 | 60.00 3.00 | 60.00 3.00 60.00
3.00 3.00 3.00

NO 2 ~ NO 20.00 3.00 | 60.00 3.00 | 60.00 3.00 60.00
3.00 3.00 3.00

NO 3 ~ NO 20.00 3.00 | 60.00 3.00 | 60.00 3.00 60.00
3.00 3.00 3.00

NO 4 ~ NO 20.00 3.00 | 60.00 3.00 | 60.00 3.00 60.00
3.00 3.00 3.00

NO 5 ~ NO 20.00 3.00 | 60.00 3.00 | 60.00 3.00 60.00
3.00 3.00 3.00

NO 6 ~ NO 20.00 3.00 | 60.00 3.00 | 60.00 3.00 60.00
3.00 3.00 3.00

NO 7~ NO 20.00 3.00 | 60.00 3.00 | 60.00 3.00 60.00
3.00 3.00 3.00

NO 8 ~ NO 20.00 3.00 | 60.00 3.00 | 60.00 3.00 60.00

g 180.0 540.0 540.0 540.0
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